
 

PROBLEM OF THE WEEK #13 – MARCH 9, 2021 

 

THE POSITION: 

 ñ¡²±²¢ò 
 ðFAFAPK@ @PKZKFAð   
 ðGBGBQL@ @QL[LGBð   
 ðHCHCRC@ @RMHCHCð   
 ðIDIDID@ @IDIDIDð   
 ðJEJEJE@Û@JEJEJEð   
'ð      @ @ ;  8 ð   
 ðejejej@ @ejejejð   
 ðdididi@ @dididið   
 ðchchch@ @chchchð   
 ðbgbgb{@ @v{b{v{ð   
 ðkfafaz@ @uzkzuzð   
 ó£´³´¤ô 

 

Ð is Player 2 
 
score: 2 
pip: 111  

7 point match  

pip: 115 
score: 0 
 

Û is Player 1  
 

       XGID=-BBBaBBB----a----cbccBb--A:0:0:1:41:0:2:0:7:10  

 

Û to play 41  

 

THE TOURNAMENT AND THE GAME SITUATION: 

For this week’s problem, I’ve taken another position from one of our weekly “For The Glory” online 

tournaments.  Black is trailing in the 7-point match 2-0.  He has a checker on the bar and he has just rolled 41 

– not his best, but at least he didn’t dance.   

 

THE QUESTION: 

So, what should he do here? 

 


